12@0761 (K12a0761)

/-6

m Linearized knot diagam
(5 TN R
3 11
K/ 3 8 10 11 12 9 2 7 1 6 5
19/\/5\
1\// 4/ Solving Sequence

6,12>5->11>4—>1->10>3—>2—>9—>7—> 8> C2,(7
A knot diagra Cs €11 ¢4 C12 c8 ’

Clp €3 C1  Cog Cg
Ideals for irreducible component#ﬂ)f Xpar

I = 4 u® 4 —u 1)

* 1 irreducible components of dim¢ = 0, with total 69 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(u®4u®+... —u+1)

(i) Arc colorings

w9 — 5ud + 8ub — 3ut — 3uZ + 1>

as = —u'0 4+ 408 — 5ub + 3u?
—u?T 4+ 120 + - —2u° + 5ud
a = u? — 11 4+ —ud +u
wl® — 6ut3 + 14wt — 144 + 207 + 6u® — 2u® — 2u
ag = \ 7 — 7ut® 4+ 19413 — 2241 + 30 + 1407 — 6u® — 4w + u
w3 —13u30 + ... —2u2 4+ 1
ar = \ 3 — 1432+ — Sut + 2
ut® — 200t 4 - — 8ud —u
ag = \ut —21u* + ... —3ud +u
(ii) Obstruction class = —1
(iii) Cusp Shapes = —4u% + 108u%* + -+ — 12u — 2

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C6, C8 w17+ 4 3u 41
C2,C7 ub 4w —1
€3 u +u®® 4 — 1290 — 137
C4,C5,C11 w — B -1
€9 ub — T w1
C10, €12 u® +3u% + - 4+ 1370+ 39




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1, Ce, C8 Y% 71y 29y — 1
ca, 07 Yo — 17y . 4 3y — 1
€3 Y% — 1358 + ... + 104047y — 18769
C4,Cs5,C11 Y% — 57y . 43y — 1
Co yB9 — %8 .. 237y — 1
c10, C12 Y% +43y%8 + ... + 12139y — 1521




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u = —1.092180 + 0.3218557 5.91460 + 0.321541 0
u = —1.092180 — 0.3218551 5.91460 — 0.321541 0
u= 1.096740 + 0.3337081 5.47967 — 6.539171 0
u= 1.096740 — 0.3337081 5.47967 + 6.539171 0
u = 0.138165 + 0.7987931 2.56851 4 10.693401 1.65374 — 7.703781
u = 0.138165 — 0.7987931 2.56851 — 10.693401 1.65374 + 7.703781
U 1.145410 + 0.3286361 —1.73469 — 2.505121 0
u = 1.145410 — 0.3286361 —1.73469 4 2.505121 0
u = —0.140078 + 0.7929081 3.02805 — 4.426711 2.55261 + 2.891501
u = —0.140078 — 0.7929081 3.02805 4 4.426711 2.55261 — 2.891501
uw= 0.110756 + 0.7933881 —4.87332 4+ 6.59799] | —3.56404 — 7.84229]
u= 0.110756 — 0.7933881 —4.87332 — 6.59799] | —3.56404 + 7.84229]
u = —1.166290 + 0.2944811 0.672378 — 0.7618651 0
u = —1.166290 — 0.2944811 0.672378 + 0.7618651 0
u=0.012224 + 0.7914157 —0.94544 — 2.842811 | —1.00503 + 2.828361
u=0.012224 — 0.7914151 —0.94544 4 2.842811 | —1.00503 — 2.828361
u = 0.074603 4 0.7858681 —5.96794 4+ 1.108901 | —6.58754 — 0.137371
u = 0.074603 — 0.7858681 —5.96794 — 1.108901 | —6.58754 4 0.137371
u = —0.106193 + 0.7691087 —2.51716 — 3.126291 2.15915 4 3.275671
u = —0.106193 — 0.7691081 —2.51716 4 3.126291 2.15915 — 3.275671
uw= 1.193520 + 0.3310761 —2.55117 4 2.937571 0
uw= 1.193520 — 0.3310761 —2.55117 — 2.937571 0
u = 1.245240 + 0.3450041 2.86320 4 6.941171 0
u=1.245240 — 0.3450041 2.86320 — 6.941171 0
u = —1.30108 2.90585 0
= —1.277260 + 0.2644401 2.55105 — 1.507151 0
= —1.277260 — 0.2644401 2.55105 4 1.507151 0

= —0.070446 + 0.6908831

—1.19123 — 1.837771

2.28274 4 4.571231

—0.070446 — 0.6908831

—1.19123 + 1.837771

2.28274 — 4.571231

Llele|e|-

—1.264530 4 0.3400251

3.01410 — 1.233731

0




Solutions to I

V=1(vol + v=1CS)

Cusp shape

1

IS

—1.264530 — 0.3400251

3.01410 + 1.233731

0

u = —0.603470 + 0.3013541 6.73153 — 0.617161 7.13438 + 2.10966.1
u = —0.603470 — 0.3013541 6.73153 4+ 0.617161 7.13438 — 2.109661
u= 0.589520 + 0.3217081 6.41855 4 6.846741 6.30902 — 7.283301
u= 0.589520 — 0.3217081 6.41855 — 6.846741 6.30902 + 7.283301
u= 1318830+ 0.2986221 3.18430 + 5.455671 0
uw= 1.318830 — 0.2986221 3.18430 — 5.455671 0
u = —1.315810 + 0.3389961 —1.61288 — 5.165961 0
u = —1.315810 — 0.3389961 —1.61288 + 5.165961 0
u = —1.362700 + 0.0542161 4.88257 — 4.458271 0
u = —1.362700 — 0.0542161 4.88257 + 4.458271 0
u = —0.215382 4+ 0.5977011 5.40705 — 2.592491 4.08361 + 4.360831
u = —0.215382 — 0.5977011 5.40705 4 2.592491 4.08361 — 4.360831
u= 1.365400 + 0.0230491 6.60295 + 0.808191 0
u = 1.365400 — 0.0230491 6.60295 — 0.808191 0
u = —1.346740 + 0.2503301 10.10940 + 0.567371 0
u = —1.346740 — 0.2503301 10.10940 — 0.567371 0
u= 1.348030 + 0.2579951 10.26320 + 5.753361 0
u= 1.348030 — 0.2579951 10.26320 — 5.753361 0
u=1.333890 + 0.3302491 2.00995 4 7.102451 0
uw= 1333890 — 0.3302497 2.00995 — 7.102451 0
uw= 0.231821 4 0.5783901 5.22939 — 3.625811 3.68752 + 0.728351
u= 0.231821 — 0.5783901 5.22939 + 3.625811 3.68752 — 0.728351
u = —1.337180 + 0.3427711 —0.32289 — 10.698701 0
u = —1.337180 — 0.3427711 —0.32289 + 10.698701 0
u= 1352750+ 0.3399471 7.73069 + 8.518571 0
u= 1.352750 — 0.3399471 7.73069 — 8.518571 0
u = —1.352500 + 0.3431851 7.2637 — 14.81611 0
u = —1.352500 — 0.3431851 7.2637 + 14.81611 0
u = —1.398340 + 0.0540361 12.5949 — 7.86591 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= —1.398340 — 0.0540361 12.5949 + 7.86591 0
= 1.398680 + 0.0481861 12.92990 + 1.538991 0
= 1.398680 — 0.0481861 12.92990 — 1.538991 0

0.462955 + 0.2946671

—0.73130 + 3.448181

1.19909 — 9.107211

0.462955 — 0.2946671

—0.73130 — 3.448181

1.19909 + 9.107211

—0.465435 + 0.1295521

0.992427 — 0.3752851

9.31448 + 1.858561

—0.465435 — 0.1295521

0.992427 + 0.3752851

9.31448 — 1.858561

0.246534 + 0.3644241

—1.34874 — 0.905201

—2.53630 + 0.155951

glele|g|g|g|g|g |

0.246534 — 0.3644241

—1.34874 4 0.905201

—2.53630 — 0.155951




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cg, C8 u +17u% 4 3u 1
C2, 07 w4 pu—1
3 u +u®® 4. — 1290 — 137
C4,C5,C11 b — % -1
9 ub — T w1
C10,C12 u® +3u8® + -+ 137Tu + 39




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢, Cs YO Ty 29y — 1
c2, 07 Y — 17y 4 43y —1
Cs y% — 13y% + - + 104047y — 18769
C4,C5,C11 Y% — 57y .+ 3y —1
C9 y® %8 4. 237y — 1
€10, C12 y% +43y5%% + ... 112139y — 1521




